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F&l f&sea gt choose the correct option

2c ST PHuell Hmal &bt aTiRes dbusit’ off 2
East India company was the “Trading company’ of

(A) Wi France (B)&Tois Holland (C)$ocis England (D) gdemer Portugal

HETAATS! Tdz&AT A “HAsderR’ by opal Sirdar arm ?
In Mahalwari System who were ‘Mahaldar’ ?
(A) STeitere Zamindar (B)3ita @1 = Village Mukhiya

(C) fepaTer  Farmer (D) farfeer IR British government

anfea=it JAATST FRT U=or Far o= g’ oo fhasd fow w=er
T SITar e

The adivasi community use the word ‘Dhiku’ for -

(A) ATt & fo1E Ladies (B) gt oot & fa@ Outsiders
(C)orsta oot @ @ Poor people (D) 3mfear3=ii @ fTw  adivasis

IYRA deoNg HRA &b A de ur Reda ar?
Surat port is situated on which coast of India ?

(A) ufsTat ae West coast (B)gdf @c East Coast

(C)eféroft a< South coast (D) gdt aféroft de South east coast
1931 T H HRAIT IERT HiaA b faor s &b o drell usrk &
B Sfots & o918 ?

What was given place in the central strip of the Indian tricolour in 1931 ?

(A) 312Neb Teh  Ashok Chakra (B)a<=m Charkha

(C)Ri& Lion (D) @A Lotus

FHIel IRBIX o ARA H Bl AT TAATST JIR BT B T8t Bar|

Which ‘social reform’ work was not done by the East India Company ?
(A) TA gaIT @I d€ &It bl bt (abolishing sati custom)

(B)sxafeT @B d§ @It abT bt (abolishing human sacrifice)
(C) frerar fare @t dgrar aof &I Hrf (encourage widow marriage)
(D) [Tt d& A BT Hrd  (end slavery)




10.

11.

12.

AT oMRaT & UsmA A 1929 T H QIRAT Hlgfad el | oTRaT
Blefel Ty Adiera ar ?

Due to effort of Har-Bilas sarda in 1929, Sarda law was enacted. What is Sarda law
related to ?

(A) TTsB-csfpal @t ondl & fOT =Iaddr 3 A minimum age of
marriage of boys and girls

(B) AT "am A sati custom

(C) farerar f&ars ¥ Widow marriage

(D) eI=Ta &€t A ban on alcohol consumption

PHIAA D Uscl 37eT&T hlel J ?

Who was the first president of Indian National Congress ?

(A)T03TT0 & A.O. Hume

(B) @NTALT e detoil Womesh Chandra Banerjee
(C)3Irstex gATE Rajendra Prasad

(D) Fe= T defoit Surendra Nath Banerjee

e # Ut oram Rferwrd 3eTeERur B-

The Uranium of Laddakh is an example of -

(A) aratdes AATeTST actual resource  (B) AHATST JATeT  potential resource
(C) STqepoN=r IJATelT renewable resource

(D) Td=ITuds IAATerel  ubiquitous resource

ITAT AT UTh SRIVS bl Tb AT AT 3Tl &, oIl SaddH A
T foer A Rerg 22

Betla National Park, the only national park of Jharkhand is in which district ?

(A) otgdar Garhwa (B)getreg,  Palamau
(C) 3=t Ranchi (D) eTaaTrz Latehar
geldl A hlel Fpoll B AT gIFuIEeid Ald <dl B ?

Which among these is not a non-conventional resource ?

(A) ®Brrer Coal (B) SaTT ot tidal energy

(C)uael Foit wind energy (D) AT 3soit Solar energy

A A Dl ARG H JIT UIENPst 3T BT HBT Dew oldt
37

Which is the main centre of information technology in India ?

(A) IeTT=A Banaras (B) gor Pune

(C)=s feeeit New Delhi (D)dorgg= Bengaluru
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14.

15.
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17.

18.

forea a5t o@eT STEHIAT BT cToreter 75 UfTerd IeT B B—

Nearly 75% of the people of the world live in -

(A) IR 3T 31T A Europe and Africa

(B) 3TPHIhT 3T 3TSfe1am 3 Africa and Australia

(C)Tfdram 3R <PFa A Asia and Europe

(D)3° 3TAHT T go 3rATRHET H North America and South America
TRl Jfderer gRT aeiRel &1 feaar Alfeis wdex o ot T 2
How many ‘Fundamental Duties’ has the Indian constitution given to its citizens ?
(A)10 B) 11 (OR:] (D) e

TR H hiel AT H=m Pigel Tl 2|
Which is the law making body of India ?

(A) FHABMARug  Cabinet (B) BaaT &lldeAAT  Only Lok Sabha

(C)BaaT I JT Only Rajya Sabha (D) JFA< Parliament
Pl AT PRI ARG A ATIUTABT BT daf & ?

Which is not a function of judiciary in India ?

(A) ferarel b1 fergerr settlement of disputes

(B) ==11i¥1ep A& judicial review

(C)getta p2rer Conducting election

(D) SATTRT & 31ferasrIy JF2eToT protect the rights of the citizens
TR ATHATT b1 Rule JAdfera 2

The Sachar Committee Report is concerned with
(A) AT AHeTrT A (Christian community)
(B) R HAHST A (Muslim community)
(C) 3Tggaa il = (Schedule castes)
(D) 3TgIa STeferiiad A (Schedule tribes)

UeITTH 3Iooidcdl ATGTell bl Adel & ?
Pradhan Mantri Ujjwala Yojana is related to ?

(A)orat H faegla =razerm A rural electrification

(B) feT:9Jcss TeToUTOGIT0 holaeTel 3IUcteeS il A free LPG connection
(CO)Er # Ja1 Aotel A Painting houses

(D)seTH A bIg <&l none of the above




19. ol o=l b [T HBcaorpr 3ifasprR S8t 8 2
Which discovery is not beneficial for children ?
(A) M= b1 &br Polio vaccination
(B)3ferar @1 <iabr Rabies
(C)&todto @1 <iaer T.B. vaccination
(D) UIATY I BT ToTATOT making atom bomb
20. HATed RI Uhla & fow fpam o=m e &t otaid 8 2
Which human activity is harmful for nature ?
(A) Ui @I a3TelT  watching nature
(B) UdpfdI @I A&TOT <&l cooperating with nature
(C) "Uld @I &Tse @HIeT destroying nature
(D) upiy @1 3fRra Iu=Ner  proper use of nature
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